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Pacckas - Hacts Cemuanuaras: I'pammaTuka

S17.A Verbs of Motion (Part One)

If you feel completely confused about how to say go in Russian, there’s a good reason for it: We’ve seen bits and
pieces of an explanation in previous lessons (e.g., X0OUTH vs. é31UTh), but we really haven’t explained it in full
yet. The whole question of “Verbs of Motion” (as they are affectionately known in Russian) is a bit complicted,
but not nearly as difficult as many textbooks make it out to be. First we’ll look at the general notion of Verbs of
Motion, and then in this lesson we’ll focus on how to express a single round-trip (which is probably the most
common use of the word go).

Most of the verbs we have seen have come in a pair consisting of two forms, Imperfective and Perfective

read
tell
ask
Imperfective Perfective
Ai MPOYHUTAI+
YUTAN+ p I
TOBOpH+ Ckasar
CITpAIIUBaif+ Clpocu+

Verbs of Motion (VoM), a small but very important group of verbs, have three possible forms, still just one
Perfective, but two possible Imperfective forms: Imperfective Determined (Heading; Making One’s Way) and
Non-Determined (Non-Heading, Non-Making One’s Way). (In the chart below we use the Infinitive forms for
convenience’s sake. More on the forms below):

Verbs of Motion (VoM)

g0

Perfective
TIOWUTH
noéxarh

Imperfective

“NON-DETERMINED” “DETERMINED”
XOJUATH UIATHA
€3IUTh éxaThb
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S17.A.1 Forms of Verbs of Motion
Non-Determined (Imperfective)
Stem XOH+ 3+
Present XOKY €3y
XOJTUIIIb ICe311701113
XOIUT E3UT
XOIUM €31UM
XOIUTE é3uTe
XOIAT &311AT
Past XOIHAT &3
XOJIrIIa é3muna
XOJTAIIO €310
XOJAITN &3 InIH
Infinitive XOIHATh é37UTh
Imperative xoau(Te) éau(re)
Determined (Imperfective)
Stem {up+" / mé+" (&)} {én+ / éxa+}
Present uny ény
i0I(S1143 éenib
uaeT éner
UIEM énem
unere énere
UAyT ényT
Past mén éxan
ia éxan
11 (0] éxain
LIUTH éxan
Infinitive UATA éxaTh
Imperative uai(re) noe3xAaii(Te)
Perfective
Stem {modim+” / momé+" (€)} | {moém+/ moéxa+}
Present non Iy noémy
onaéNb MOENEIIb
oM IET Moéner
oM IEM moéieM
nonnére oénere
TOUIYT MO&ayT
Past NOMIEN noéxai
TIOIILIA rnoéxaia
OO oéXaso
IIOIILIN rnoéxainu
Infinitive HOUTH H0&XaTh
Imperative | moiinii(te) moe3xar(re)
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|
Comments on forms of Verbs of Motion:

1) The Non-Determined forms (xomn+ and é31u+) are garden-variety m-stem verbs, both of which have mutation
of 1> & in the a-form.

2) The Determined forms are both rather odd double-stem verbs. {éa+/ éxa+} is more or less normal, except for
the Imperative moe3:kaii/Te, while the Determined form whose Infinitive is uaTn is really wacky. The
Present stem is ma+", while the Past Tense forms are mén” (€), muia, muto, mutu. (But if you think about it,
English has a crazy Past Tense for go: went. If it’s any help, the mr in mén resembles the w in went.)

3) The Perfective is based on the Determined form — basically you just add the prefix mo-. For mari, the u > i
in all forms, and in the Infinitive the x disappears. Got all that?

Why Motion Verbs Are Problematic: (At Least) Four Verbs for Go

One of the main reasons that Verbs of Motion can be difficult is that there are two rather tricky distinctions which
must be made, neither of which exists in English: 1) Riding vs. Walking (which we covered in Lesson 45, and see
below) and; 2) “Determined” (mari / éxats) vs. “Non-Determined” (xomuts / é3auth) motion. This means that
there are (at least) four possibilities for go.

In this lesson, we’ll ignore the second distinction (“Determined” vs. “Non-Determined”), which is probably the

trickier of the two. (Not to worry, we’ll get to this in the very next lesson.)

Let’s quickly review distinction between é3auTh / éxath / moéxathb (motion specifically by vehicle) and xomiTs /
uaTh / moiTi (motion either on foot or by vehicle).
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| S17.b Riding vs. Walking (Review from Lesson 45) |

‘Go’ in Russian: Riding vs. Walking (or Riding)

Mei1 é3auiu B MockBy vs. MBI X01JIM B KUHO

Notice that in the English version of the above two sentences the verb is the same: We went to Moscow | We went
to the movies. In Russian, different verbs are used to distinguish between travel that must be by vehicle from
travel which is either on foot or by vehicle.

Clues indicating when to use é3auTb / éxaTb / noéxaTb Vs. XoaUTb / UATW / NOUTH

MUST BE BY VEHICLE EITHER ON FOOT OR BY VEHICLE
e3auTb / éxaTtb / noéxarb xoauTb / uaTy / nonTn
Context clues: Context clues:
1. Geographical place name (B8 Mockgy, B 1. Destination is an “event” (B kuHO, Ha 6anéT, Ha
TpéHToH, HA JTYHY MOON) BBICTaBKY) or a “landmark” (B 6ubamoréky, B

MarasuH, B My3¢i)

2. A vehicle is mentioned: Use na + 2. Use of the Adverb memkom on foot.
Prepositional Case (e.g., Ha MamiHe, Ha
noe3ne) or bare Instrumental (MammHOM,
noe3nom). Also, if you see someone in a
car/train/bus, you must use a “vehicle”
verb.

Desire to specifcally emphasize vehicle or walking (Ter xomun Tyna? Her, s é3ami.)

So, Muma ceronnst uaét Ha onepy does not imply that he plans to walk there. Even if he is going to drive (or
take the train), and you know that he’s going to drive, you should still use maét because there is no reason to
emphasize how he’s going to get there and back.

On the other hand, if you mention the geographical place name, you must use a “vehicle” verb: Mima ceréans
énetr B ®unagénbguro Ha 6mepy. The place name “trumps” the event.

Curious fact: With the noun gdua you must use “vehicle” verbs é3auTn/éxarb/moéxarn because by definition a
mauda is something out in the countryside, to which one must drive: MbI Buepa é3auu Ha Aaqy.

Some more examples:

Kyna 11 unémn? (Meeting someone walking down *Where are you headed?

the street)

Kyné o1 énems? (Meeting someone on the train) *Where are you headed?

S ceromus uny Ha 6nepy YalkOBCKOTO. I'm going to a Tchaikovsky opera today.
JIétom 51 ény B CHOWpB. I'm going to Siberia this summer.
Buepa ont é3amu B Hero-Mopk. They went to New York yesterday.

0000000000000 |
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Buepa mbl X011 B KHHO. We went to the movies yesterday. (It may have
been in New York.)

Mer éxamm u3 Mocksrl B Kiie moe3mom. We took the train from Moscow to Kiev.

Om Buepa xoaun B TpéHTOH nemkoOm! He walked to Trenton (and back) yesterday!

*Tomorrow we’ll discuss why where are you headed (as opposed to going) is the best way to translate these
sentences.

@ Choose between Riding and Walking (or Riding)

Example: I'ne o1 0611 Buepa? (TpéHTOH) O A é30unu 6 Tpenmor.
Kyna ona é3nmuna nérom? (Poccris) O Ona é30una 6 Pocciiio.
Ha uém Murts é&3nun? (Mamviaa) O Mums é30un na mawiune.

I'ne Bops Obin Buepa? (Kanudopuwus) I'ne 6pu1d Buepa Hatama? (kuHO)

I'me onn OpuH ceromus yrpoM? (TpéHTOH) I'me onn OpwTH ceroans yrpom? (OMOIHOTEKA)

Ha uéwm onn é3mmm? (moesnm) I'me 61 ObITA? (MarasiH)

o nw» =

2
4
I'me onn OpuTH Buepa? (mada) 6. Kyna Mama é3muma mérom? (Kandna)
8
1

I'ne o1 6601? (Hblo-MoOpK) 0. Ha uém BBI é31mn? (MOsI HOBasI MaIIuHA)

S17.B A Single Round Trip Broken Down By Tense, Infinitive

Probably the most common (and most troublesome) point involving motion is expressing a single round trip. It’s
really not difficult. Honest! The only thing that makes it somewhat tricky — and illogical in our opinion — is that
different forms (Non-Determined vs. Determined vs. Perfective) are used depending on the Tense (or for an
Infinitive).

In other words you cannot simply take Past Tense Koctst é3qun B MockBy Kostya went to Moscow (one time)
and change the tense on é3aua (the Non-Determined form) to get Future Kostya will go to Moscow. The sentence
Kocts 6yaer é3qut B MockBy (with the Future of Imperfective é3autsp) has a different meaning and does not
mean Kostya will go to Moscow (one time). Instead, as we will see below, you need to use a different Verb, the
Determined form: Kocts énet B MockBy is the Future of Koécrs é3auin B MockBy. Is this logical? Heck no!
(And we’re only using “heck” to be polite.) Ho uro xe nénats?!

We strongly suggest that you memorize the following (rather short) examples — or at least one from each group.

Past (Completed): “Non-Determined”  é3auThb / XogUThb

A single round trip in the past can be expressed with a Verb of Motion (é&3auth / XoauTh) or with the Verb be.
Thus, you can say either MbI BUepa X014 HA CKENTAKJbL or Mbl BUuepa ObLJIM HA CKENTAKIIE.

B mépte mou poantenu €3aunu B MOCKBY. My parents went to Moscow in March.

MBpI BUepd X0 Ha OTIepy. We went to the opera yesterday.
I
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Past (In Progress): Perfective noéxartb / NOUTH

The Past Perfective is used when a person has left but not yet returned (but is expected to return in the not too
distant future).

Mama noéxana B Hero-Hopk. OnA BepHETCS GueHb *Masha left for New York. She won’t be back until

O3IHO. late.

Komu ger noma. OH mowén B Marasvd 3a ra3éTou. Kolya's not home, He went to the store for the
newspaper.

*As we will see when we examine Prefixed Verbs of Motion, there are several ways of saying left for.

Here are the four ways of saying She went...:

She went to the store / Moscow...
and is back: “Non-Determined” Past and is still gone: Perfective Past
Ona xo#JIa B Mara3uyH. Ona nonuia B Mara3yH.
Ona é3nmna B MOCKBY. Omna noéxana B MOCKBY.
Present (as Future): “Determined” éxatb / naTu

To some extent, a round trip cannot really be “in progress” because you cannot simultaneously be making both
legs of the trip. In any case, the Present Tense of “Dtermined” Verbs is used to describe a single round trip which
is either begun or, much more commonly, which is intended for the future. Notice that in English we also use a
Present Tense Verb to describe a future action — just look at the translations:

Cer6Hs BéuepoM 5 Uy Ha 0ajér. I’'m going to the ballet tonight.
JIéTom Kupa éner B [Taprik. Kira is going to Paris this summer.
Future: Perfective (or “Determined): noéxartb (éxaTtb) / nonTn (MaTN)

As we mentioned directly above, to express a future single round trip you can use a Present Tense “Determined”
Verb. In addition, you can also use a Perfective Verb. The difference between using Imperfective “Determined”
(éxats / maTn) and Perfective (moéxats / moiiTi) to express a future single round trip is rather subtle. We
suggest you use the Imperfective “Determined”, though the Perfective is 100% grammatical.

Korzaa on noiaér (uaét) B Mmarazuu? When is he going to the store?

ITama noénet (énet) B JIOHIOH Oe3 KEHBL. Pasha is going to London without his wife.
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Infinitive:  (Positive) Perfective: noéxatb / NOUTH
(Negative) “Determined” eéxartb / uaTu

With positive statements, use a Perfective Infinitive:

S dueHb Xx04y MOWTH Ha HOBYIO BBICTaBKY BaH-1'0ra. [ really want to go to the new Van Gogh exhibit.

OH4a cobupaetbes nmoéxatb B Caxapy. She’s planning on going to the Sahara.
With negative statements, use an Imperfective “Determined” Infinitive.

OH HHUKyZI4 HE XOUET UATH. He doesn’t want to go anywhere.

51 He cobuparocs éxath B bOCTOH. 1 don’t plan on going to Boston.

Actually this Positive=Perfective, Negative=Imperfective applies to almost all Infinitives, not just to Verbs of
Motion.

It is worth noting what forms we did not see above:

No “Determined” Past Tense (éxan, éxana, €xaio, éxanu / mé, mia, 110, MK )

No “Non-Determined” Present (é3:xy, €30UT, €34T / X0XKY, XOIUIIIb, XOAT)

No “Non-Determined” or “Determined” Future (6ymem é3muth, OyayT éxaTth / Oy XOAUTh, OYIEIIbh HIITH)
No “Non-Determind” Infinitive (é3auTh / XOIUTH)

We’ll see how these forms are used in the next lesson, when we move beyond a single round-trip.

% MepeBeanTe Ha PYCCKUIA.
1. We went to Petersburg in the winter. 2. Who’s going to Moscow in the summer?
3. For some reason, he doesn’t want to go to Alaska. 4. T’m planning on going to France in June.
5. TIreally want to go to that concert. 6. 1 went to the opera on Saturday.
7. Gera just Téabko uTo left for Trenton. He’ll be 8. We’re going to a play on Saturday.
home around 9:00.
9. We’re not planning on going to the lecture. 10. Vika is not home. She went to the library.
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| S17. Practice Sentences |

@ HoBble cnoBa u3 pacckasa:

in ACC

B/Ha + place/event in
ACC

TperbsakoBKa 1. Mgl ceromus unéM B TpeThIKOBKY. 1. We’re going to the Tretyakovsky gallery
today.
Tyna 2. 51 bueHb XOUY HOUTH Tyn4. 2. Ireally want to go there.
KaK 100paThest 3. Teo3n4emsb kak TOOPATHCS 10O 3. Do you know how to get to Red Square.
r ~ r f)
Kpacnoit mnoma? 4. Do you remember how to get to the
4. Bl He TOMHHTE, KaK TOOPATHCS JI0 Hilton hotel?
TOCTHHHIBI XUITOH?
HE pa3 5. Sl ue pa3 é3muna B 5'ICHy}O [onstay. 5. I've been to Yasnaya Polyana several
, times.
6. OH He pa3 xKeHUICS.
6. He got married several times.
cami+...cst // {esin+ // 7. Camiics! 7. Sit down.
cén+} (Inf cectp
Ak (Inf ) 8. Oua céna Ha quBAaH. 8. She sat down on the sofa.
aBTO0YC 9. Sl décto é3xy Ha aBTOOYyCE. 9. I take the bus a lot.
10. Kyna unér 3toT aBTOOYC? 10. Where does this bus go?
rajnepés 11. B Hb}O—ﬁépKG OYCHb MHOTO 11. In NY there are a lot of interesting
MHTEPECHBIX TaNepent. galleries.
HOMeEp 12. Ar0 aBTOGYC HOMEp IIECTHACCAT 12. Is this bus number 64?
4yeTrIpe?
widpa (Gen Pl uudp 13. W3BuHwH, s nepenyTan qugpeL. 13. Sorry, I got the numbers mixed up.
(no Cluster Buster))
MIUTUIAS 14. Mot s pabOTaeT B MIITHITHH. 14. My uncle works in the police deparment.
(Most likely this implies he is a cop.)
3BOHM+ // 110~ 15. 4 emy 1o3BOHIO Ha padoTy. 15. I’ll call him at work.
16. He 3B0HA MHE JOMOIA. 16. Don’t call me at home.
omb/ka (o) 17. Ou 0e3 KOHIIA AéTaeT OIIAOKH. 17. He constantly makes mistakes.
1o ouribxke 18. 5 mo ommbke B3 MATHHY KHUTY. 18. I took Mitya’s book by mistake.
nénaii+ // c- ommoKy
HE TOT (HE TO, HE Ta) 19. S B35 HE TOT KIIFOY. 19. Itook the wrong key.
m 20. 41 He 3HAI0, IOHPABHIICS JIH MY 20. Idon’t know whether he liked the movie.
briIBM.
crona 21. Unu croxa! 21. Come here.
22. CkOJIBKO BBI €Xaju croaa? 22. How long did it take you to get here?
onasjeiBaii+ // ono3pai+ | 23. Ou Bceraa Oma3abIBacT. 23. He's always late.
Ha + fime expression | o4 \fy OTI03J14JTH Ha ECATh MUHYT. 24. We were ten minutes late.
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TOITOPA 25. Er6 mammua B montopa pasa nopoxe | 25. His car is 1% times more expensive than
MOEH. mine.
MAJI0 26. Y Hac OueHb MAJo I¢HEer 26. We have very little money.
Ha4YMHA+..cs1 // 27. Korna HaunHAETCSI KOHIEPT? 27. When does the concert start?
{HAUH+ .../ HAa+...0t} | 98 (yimpm HaummAeTCA MHUHYT 4€pes 28. The movie starts in ten minutes.
TECATD.
MOCKBHY ~ MOCKBHYKA 29. Ecnu s He ommbarock, Bépa — 29. If I'm not mistaken, Vera is a Muscovite.
MOCKBHUKA. . . .
30. She married a rich Muscovite.
30. Ona BEIIIKa 3aMYK 3a 60T4TOrO
MOCKBHYA.
COBEPIIECHCTBO 31. OroT PreM POCTO COBEpIIEHCTBO. | 31. This film is simply perfection.
3aKpbIBA+...Cs1 // 32. Maras3uH 3aKphIBa€TCS B CeMb 9acOB. | 32. The store closes at 7:00.
{3akpoOii+...cs1/ , , )
33. bubnnoréka OTKpELIACh B TOJ- 33. The library opens at 7:30.

3aKpBI+...CH }
OTKpPBIBAIi+...Cs //
{OoTKpOIi+...c51 /
OTKpBI+...CS }

BOCEMOTO.
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25 YnpaxHéHue 1

1.

25 YnpaxHéHue 2

1.

Answer the questions about the story:

Circle the correct form and fill in the endings

JIétom MbI [éx / é31 ] B Mocks
34BTpa MEI [U1 / x61 ] Ha BBICTaBK

41 6uens xouy [€311 / moéx ] B [leTepOypr
JIéTom MBI [x01 / é3n ] B Uukar

Jlaps! HeT noma. OHA [xox / momr ] B 6ubmmoTéx
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6. + Jlapa rae T 06147 - S [ / Xox ] B kuu

7. Omna pemrna [éx / moéx ] Ha gau

8. Tloyemy oHU HE XOTIT [TOéXa / éxa ] B [leTepOypr ?
9. B méae Mu1 [OyaeM €31u / moén | B Cubnp

10. MsI BUepa [xoan / éxa ] B xuH

11. 4 ceiiuac [Oymy €311 / Ioén ] B marasun

12. TToyemy oH He XOUeT [U / xonu | Ha 6aner ?
13. Mu1 Buepa [é31u / xoomn 1B Hb}o—I?'Iépx

14. 5 6uenp xouy [moéxa / IOUT ] Ha 3ToT PUITEM

15. JIérom onn [mn / é3au | B Kanmgpopan

16. Ha cnényromeit Henéne Mol [é11 / é3mu ] B Texac.

2< YnpaxHéHue 3 [lepeBeante Ha pyCcCKUN:

1. The museum closes at 4:45.

2. He bought the wrong book.

3. They were around 20 minutes late for (to) the concert.
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